<IKEZ-RKEZOBHLE> 20194E10 5 19 B VERL
RELORES - 1#:S
1021 B9 #1l N & |[IUFGEER |= K&z
10/22| M|F 7l N # | KEPEEH |= K&z
10/26| 14 g1 A & |[dtEEE |= 10/1991%
10/30(K |9 ®1| A & |[feHE=EED |= ﬁn/%m
10/31|KR|F 7| A & | K&HEEH = K&2
HAEF 51| N §# [EFEE |= K52 %E
11/2| |4 w1l A F |FI-BRSES = ZHEITEBET
11/9| £ /F HiI| A E [{EFEE = «EJII%Efﬁ
11/13kK19 81| A & |AJIEE |= 2
11/14/ K9 71| A & | K= |= K&z
11/14| K |F & N F .—JF’*%EFE = K& %m
11/15|& |9 71| A & ZEEER |= K&z
11/16| £ |9 R A # EJII%ETﬁ = 1&2%2_%
11/18/A |14 71| A & ZEEER |= K&z




11/200k |9 @1l A & |feHEE |= ﬁéé)%i
11/211 K4 g1l A & FWUER |= K52
11/23| 194 g1l A & |[tEEE |= 11/164:1%:
11/29 & |F 75| N & ZEEEBEN |= K52
1217\ N F/% N B ([ KEER |= K&2 =
12/19)K|1F a1l N & FUEER |= K52 2
1/31|€|F 7| A & ZEESEE |= K52 2
3/300A1F ®wIl N ® ESER [= K&2 2
xRS - 1%:2 _
10/22| K F w1 5 ®B RAGEE = K52
10/24| K4 w1 5 ®# MUEBER |= K52 2
11/14/ KR4 #7iI| % # MUER |= K&z =
11/15|€|F w71 5 ®# RASEE = K52 2
BREINRES - 152
10/22||F % BB & |XHBE=EE |= K2
12/3| X9 HiI| BE # |THEEE |= REZFE




12/3| M| THEER = K52
Ha# 0 s -
10/24| K |4 IEEER |2 K52
latpR ML AR5 -
10/31|K|F #il B EEER |2 K52
11/71| K F #&| s "ARERD = K52
11/200Kk|F #| BsrE NEERR = K52
11/21|K|F % isE FEARAER = K52
179/ K |F HiI| 5NE ZFEEER |=22E&I1E02ET
1/30| K |4 g1 sE |EEER |= K52
1A ARES - 18:2
11/5| N |9 HiI| BAFE |8REEHD =>n/)$11|5|%30ﬁ3\$’6‘
11/26| N |F HI| AR REEL SSE11BE309ET
INREIONEE - 18:2
11/2| |9 7iI| /MNREFE EEERD R F &
1119 F & /NMEE E=ZER |2 = YIEEERR




W&Nﬂ@ﬂ - 852 ]
10/28| A |4 w1 |#EFERNE EEER |= ﬁiE’é)
11/29 ﬁ F 51 #HERNE | G EER = K52

1/14 K |F HiI|#ERNESEER |= K52 2
1716\ R|F & HEAM S SEE |= K52 2

.mﬁzisﬂé){'\: :2 - 152 - ]
10/22| N |5 1& WRERFEIERERM = K52
10/31| RF RZRBIWRBE AHER |= JE I EEm

EHRNEoREE - 852
10/26| X |4 81 |ZBEHNE/DHRERR |= A = EHf

11/5| X F B B4 E EHER = K52
11/7| K| F 8| B4 E EHER = K52 2
11/8|%€|F BI|ERHNE EHER |= K52 2
1/23| K|F Bl B4 E EHER = K52 2
1/24| € |F BIERNE EHER |= K52 2




